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Evolution of sex and adaptation
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Figure S5: Ratio of upper-percentiles for sexually- and asexually-derived genotypes obtained from random sets of parents.  Ratio (+/- standard error) of the top 5% (A, B), 15% (C, D), or 25% (E, F) of sexually-derived genotypes relative to that of asexually-derived genotypes obtained from random samples of parents (Figs. S3, S4). As in the case for the top 10% (Fig. 4E, F), sexual offspring are more fit than asexual offspring in adapting populations (P < 0.05) whereas sexuals are less fit in control populations (P < 0.001) for all three percentiles shown here.
